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Differentiation

Find the derivative.
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y=a3 (1724—1)1/3

Yy = Inv522 — 4
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y = g
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y=z—+va2+1
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y=(x—1)7°2z+3)>
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y = sin® z + tan 23

y=In (1 + xz)
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y = e2m+3
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y:e’zz—l—lnz4
y = logo 22 + 2%
y=>5z3-3z+2—\/x+3
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y =secx + tan®x — sinx

y =Incosz

Y= eac-l—cotac
xy—y? =4
Y= (21’3 — 31’2 =+ (E)2/5
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y=e
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y=2+%5 - (30)" + 3
y = a° (322 + 52 — 7)*"°
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y=eV'+a-e

y = 3tan (2z + 7)



60. y = [111902}3
— T
6l. ¥ = 15073
62. y = ern®
63. y=2+In7—-3x2 -1
64. y =z (x+1)° (x+2)°
65. 3zy +y? = b5x + 17
66. 22 +ay—y>?+1=0
67. y=—42® + 2+ /z +1In22
_ Vx2—-4
68. y =07
69. y = x (cos 2z)°
_ ptanz 1+z
70. y = €% 4 n (21'—1)
\/1-1-1(12-{-3)5
hy=—"m
_ 1,1
72. /LY = T + Y
T3oy=24+¢+ Yr+ad+ab
74. y = (32)*
75y = 25
76. y = V222 + 1 (52% + 2)°
77. y = tan? x + secx? — \/cot ¥ + csc (Inx)
_ xzvx+1
8y = x+5
79. y = (50)° = 3" + g
IQ X —
80. y = L
8l. y=¢€™ + Vcosz? — ﬁ
82. y=(z+1)""
83. 2y? — 22 =2
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84. Yy = In |:(1+122)22:|
85. y = (3z —4)° (2z — 1)*
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y = e’ sece
y=a¥*

y =lInsinz

Y3 =4+ 2yx + 22

y=3z+ 2% -z +10

Y= (:c2—x)10 (% +22—1)

622+2x

Y= G
2341)°
y=1In [ﬁ]
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y=x
Yy = 3pl/3 — 2p—2/5
y:2($4—5)9

Y= 1.7631

y=1In (3m++1)

y = (2z —3) (tanz + 1)°
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y= (2—6”” ) + logs x

y: (2:1:)(3051

4+ yhr =2

y=(22%) V322 — 1

y= [ln (332 + 1)}2 —1In [(:172 + 1)2]
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x® +zy —y° = 82

y=(z+3)° (2% —22)

y=Va*+ vz
Y= 5175
y = (cosz)™”

y = V/tan 2z — sec® (4o — 1)
y=1n {_@wz—%)z(w—l)]
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y=a?cosz

y =sin260 and 0 = 3z + 7/6



119. In(zy) + =z +y? =
120. y = (z + 1)V/*
e’+1
121, y = In |2 ]
122. y = tan\/x sec 22
_ Bz+1)'/3
124. y = ¢ +1n (212 n 1)
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125. y = (Inz)”
_ 5a%csct 7a
126, y = deiescl T
_ 1
127y = o=y
tan(bx—m
128, y = tnbem)
129. y=7ln [1] + 2z + (In2)™"
130. y = Vtan® 5z
131. y = log (%)
132. y = z%sin/x
133. y = 3=lne
134, y = (a2 + 1)
135. y =2u—1and & = &
136. y = v/sec2zx
137. y =4x (:102 — 9)5
138. cos(x +y) = ysinx
139. y =1In {zf—il} + =’ 1
140. y = (32)*
141. y = sin® (3e + 2?)
32°—243)*
_ 3x—1
143. y = csc [z2+1]
JE2
144, y = (2% +1)
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Z—‘Z = —3csc3x cot 3z — 2csc? 2z
dy _ —z2 4

e = —2xe + =

dy __ 2 T

dr — zIn10 +2%In2

dy _ 2_g_2 _ _1_

dr 15.’13 3 ) 2\/5

dy __ 20x
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Z—y =secztanx (1 + 2secz) — cosx
X

dy _

I, = —tanz

dy _ _erteotr (o124
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dy _ _y

dz 2y—x

dy _ 2(62°—6a+1)

dr — 5(2z3—3w24x)3/5

dy __ 2 s

& = (1—-2z)" [-6sinz + (1 — 2z) cos z]

dy —1

e (Va-1)’va

Z—Z = —6z2cos (x3 + 2) sin (x3 + 2) +
csc (tanz) cot (tan x) sec? z
dy _ _1-2xy

dr — x2+4+2y—1

dy _ z?

7, = tanx + 2xe

dy _ _z?

dez —  y2

dy _ 4 V2 5

=0T = — 5 — =

dy _ —7z%+18z+1

dr = 3(3—z)?/3

dy _ 142z

de — 2z

dy —(1—1)2(212—8w—9)

de (22243)°

dy _ m—1 T _ 12

o =TT +2%In2 e
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dy _ 6z _ 15z

dx = 3z2—-4 5x3—4
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% = 6z sin? 22 - cosx? - 80 @
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dy _ _ 6 4 2v _ _ 2
de — x5 + 3 18z 3x3
dy _ ©*(572°+85z-105)
dr = 3(3z2+55—7)Y/3
dy _ _1-3sin6z
dz — 3(z+cos? 3x)
dy _ VT4 (2z41)e”
dx — 2z
dy _ 2
2 = 6sec” (2 + )
dy _ 24In’cx
dr — T
dy _ 1-5z
dx 6(5z+1)%vz
dy __ zlnzx
Z=(1+hz)e
dy __ 1
dr ~ 2
dy _ 2 2
L =2(x+1)(x+2)" (32? + 5z + 1)
dy _ 5-3y
dr — 3z+2y
dy _ 2x+y
de — 2y—=x
dy _ _ 2 _ 5 1 1
dr 12z z? + 2y + x
dy _ 4(z+1)
dr = (z+4)>Vz2—4
Zy = cos? 2z (cos 2x — 62 sin 27)
X
dy __ _tanz 2 | |
dr — € sec” x + x+1 r—2
5
dy _ Veri(a®+43)" 14 10z 1
de — T+2 2(z+1) 243 x+2
dy _ ¥ (= vy+2)
dz x2 (y3/2ﬁ+2)
dy _ 5 4 1 1 4 _ 5
dr — 12+5+5m4/5+5x a6
dy __ 2e—1
= 6e(3x)
dy _ —2(32°+242-8)
dx z3(2z—1)2
dy _ 20°(52%+1)° (652 +350%+2)
do — 202+1
% = 2tanxsec’z + 2zsecz?tana?
csc?z _ csc(Inz) cot(Ina)
2+/cot x x
dy 224152410
dz = 2(z+5)%Vz+1
% = 37522 — 1223 4+ 6secxtanz
dy _ —4z*—152°4+622—102—15
dx (23—5)%
dy _ _ xzsinz?® + 1
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Cl)2 secx

dy _

Y=+ )" n@+1)+ 2
dy _ sz_yz

de —  2zy

dy _ 6(22%+1)

dr — + 3+21 z(2241)

dy _

= 28z —4)(2z—-1) (122 — 11)
dy _ 2x—3y

der — 3z—2y

dy __ r—1

dr = 12z7/6(xz+1)%/3

% = 2sin4z + 3z2 sec? 23

d_y _ 3x274z+1

de = x3—-2x2+4+zx—1

dy _ 2

= (2zsecx—|—z secxtanz) e
dy _ .Yz [3+lnzx

o =aV" [555F]

dy _

dr = cotx

dy _ 2(y+=)

der — 3y?2-2z

dy _ _ 4 1

=0T~ — 55

dz
10
+ ($2 — CC) (3:102 + 2)
dy __ 2em2+21 24232424 z+1
dr — (x341)7/3
dy _ 1527 _ _6bz

de = 2(z3+1) z2—1

dy — ga+1 (14 2Inz)

dx

dy _ _1 4

de — z2/3 + 5x7/5
dy _ 3 (.4 _ r\8
=12z (w 5)

% =25 (74 3z)e?

dy 1 _ 6z
3x2+1

dz T

dy =2 (tanz + 1)*
—|—2(21: —3) (tanz + 1) sec® x

4 =10 (2 — )" (a4 20— 1) 22— 1)

2
dy __ 22 z? 1
dz__ﬁx(2_e ) € +zln3
dy __ cosx (- cos T
& = (2x) (—sinzln2z + <=2
dy _ _a—wy’—y
dr — z(2zy+lnz)
dy _ 6x2(41271)
dz V3z2-1

dy 4x[ln(m2+1)71]
dr x2+1
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Iy =
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dx
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dz
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dx
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dz
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dy _

dx

622 [tan(31+1)—2w sec? (3w+1)]
tan3(3z+1)

_ 16x75z47y
- r—5y?

=2(z+3) (227 - 3)

1+4z\/x
6y (2 4vz)*"

_ | 2z=5)cosz—2| sinzx
= { (2252 } €
_ (COSI)IHI (ln(cosac)

_ sec? 2z

Vtan 2z
2r+ 2

_ 2 6 1
_m+3m—2+w—l

=2xcosx — x’sinx

6 cos (6:10 + %)

_ —y(+wz)
= z(1+2y7)

T In(x
= o+ )" [ ey

e 1
eT+1 x+5

2 I'SCCI2

2Vx

sec

+ 2z secz? tan 22 tan \/x

dy _
dz —

125. =2
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130.

131.

132.

133.
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135.

—5(2z+41)
(Bx+1)%/3(2z—-1)3

l?
= 2pe” +21n2w2

277 41

= (ln2)” [2zIn(Inz) + %]

= Bz csct To — 7022 csc Tz cot Tz

4z?
(5—2x3)5/3

_ 5sec®(5z—mn)—2x tan(5x—7)
- edta2

In(In 2)
(In2)”

T xIn? 4z

= = 125 sec? 5z - vtan bz

3
= Z@+3) W10

& = 2z sin/x + $23/% cos

=32 (1 +Inz)In3
= (2% +1)%1 (2 In (22 +1) +

2(z+1)
x—1

—Inzx- tanx)

—12sec? (4x — 1) tan (42 — 1)

2z(2x—1)
x2+1
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138.
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dx
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dz

139. =2

140.

141.

142. 22

143.

144.

= tan 2xv/sec 2z

— 4 (22— 9)" (1122 - 9)

= 8 sin® (36 + x2) cos (36 + x2)

_2_’_ 24x 1 x

. sin(z+y)+ycosz
sin(z+y)+sinz

3
i%_ 2z —|—3.172€z —1

x2+1

2 (32)* (In3z + 1)

2

T 3x2-2 3x 345

3z2—2z—3

O cse 3z—1 cot 3z—1

241 241

(:102 + 1)12 . [2:10 In (:v2 + 1) +

223
x2+1
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